University of Ottawa –School of Technology and Engineering (SITE)

CSI3717 – Database Management Systems – Fall 2003

Assignment 3
Due date: December 1, 2003 
In this assignment, you are going to solve several exercises from our textbook (and some others !):
QUESTION I [50%]  (Do EITHER 1+2 OR 3+4)
1. Exercise 10.2 (1)

2. Consider the Figure 10.30 on page 368 in the textbook.. Use the bulk-loading algorithm seen in class (see Section 10.8.2) to build a B+ tree index on sid using Alternative (1) for indexes. 
3. Exercise 12.4 (1)--(4)
4. Exercise 14.2 (1)—(6)
QUESTION II [50%] 
1. Which one of the following schedules are conflict equivalent? 
a. S1 = W2(X), W1(X),R3(X),R1(X),C1,W2(Y),R3(Y),R3(Z),C3,R2(X),C2

b. S2 = R3(Z), R3(Y),W2(Y),R2(Z),W1(X),R3(X),W2(X),R1(X),C1,C2,C3

c. S3 = R3(Z),W2(X),W2(Y),R1(X),R3(X),R2(Z),R3(Y),C3,W1(X),C2,C1
d. S4 = R2(Z),W2(X),W2(Y),C2,W1(X),R1(X),A1,R3(X),R3(Z),R3(Y),C3
2. Which one among the schedules S1—S4 above is serializable?                    

     If you find any that is not serializable, say why in at most 2    

     sentences.  
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